Best model for HELP J120403.493-013107.571 atz = 2.871 x%=2.02
OPTx?=2.4 IRx?=0.61 threshold (OPT IR)=30.97 [um]

. Stellar attenuated
102 - e Stellar unattenuated
] . —— Dust emission

—— AGN emission
= Model spectrum
® Model fluxes

e =

101 3 [ Observed fluxes
= ]
E ]
x 107 3
=) ]
[
10—1 _

[EEEN

Relative residual flux
o
%
] I
I
I
I
I .
I
I
I
I
I
I
I
1
I
I
|
I
1
I
I
I
I
I
I
I
1
I
I
I
I
I
I
I
1
1

=f= (Obs-Mod)/Obs

I
=

T LR T L T T T T L | T L | EME
10° 10! 107 103 104 10° A
Observed wavelength [um]



